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(1)

(2)

FEIfER Ui 7 gHfcan:, HacesTaeshal deeaaThdadsehaET |
HedIhYehRUT . afey ST aT=a | RO HUOErar= | el

T EECIRIREARIEEICClicE forara I o= |
THATHTFA AT  HCgeh U aTd Qe head | fohal, TaepaTeae: Jamhor:
THARI SHuffor Farrsrgaed Siferdartafa
USSR Rsaw e | foudasifie g qemmen, awmef 3
HARA |

q vIes: qEuEg@d: | Mies gfaigmEnd sam-ReneHE agd |
A ST THATIHRY, d: ? THEA TG | SATiiiEeH

i EgH-CEUUIT=Td, | THETET: SRETET | Tehalld THd TereTd, | STFH

ufeseiEe | ¥EA SEeeE, | Al s
ST e hehRIIhedTd | HeHaMld =d, 7 Hgy oeeulsRATed
ARARATuige el T R iag ehded: | WEfees!
IERIEETCIG

ARAAL UALAL S -0 L BRL L : (1 d AR)
(¥) TN STfaaree 3 fawg | (sagsm)

(1)
(1)
(2)
(2)
(3)
()

‘UsBa’ 2ol 24 avil.
SgTgam’ 3fa wreqey 319f forq |
DRARUAAUR” ARREAL At v Ul

ST ST e fore |

g ld S2El URALAL HIAL & ¢
ToAWded hid TEAMT SHfsha ?
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2. ()
(30

4
4
(5)
(5)
(6)
(6)

YRR AL GoiR1e S8 RRALE ¢
ST I hall h: TE ?
‘AP ML B2l UHIGLL <R € ¢
FoATagT hid SHTON TR ?
‘DAL EIW A g
STRIAEENY’ JURId |

AT A 2ARLARUAUR (BRlR2]l <gldl.
TOTERIHIUT — STUTSITTERYT fereior gurrd |

YL / AU

FHTATTHRTI A ARAIRUAUR AL
HG-FATIIRTT’ — SUMTSTERY forerq |

(01) AlRAL UBAL 25HL BaRL vl : (IH d AR)

(F) STEH FH1 ATEEE It faeq | (Tagem)

(1)
(1)
(2)
(2)
()
()
4)
4)
(5
()
(6)
(6)

TYUET” A2el 8] ¢

TG’ 3 Iege 37 garq |

YR 2106l 242 vl

qrrer:” 3f rege 319 ferag |
“opalc-UUR” (A Moyl e(esleL L s ?
ST -FER o) wgr: fomm: forq tfeq ¢
AR M)dll el MEL SBIL S ¢
FeANTITI ST <hic HeT: Hiear ?
‘V(dgd URRUMALE A 9 ¢
FrferpaatommaTes 37 foeg |
“GRIRYRL AL A=ARIAL AL Uil
SIS ST A i@ |

3. (R ‘Yslsd A8l Al oA Regldl @uil.

(31) IgTgaderae — SHEtgr: forag |
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(o)
(¥)

(37)
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25l L.
feoquft (short note) ST |

(1)

(2)

DG, e CIRURL L.

HETIYEceT TR Sty |

GI3hI9HT |

ARAAL WAL 25HL GiRL vl : (1 o =ARL)

FUNTARGATHHT HE&UA I fer@q | (FEmoms)

)
)
(2)
(2)
(3)
(3)
4)
4)
(5)
(5)

Y[R AUERHL LA’ BUAH 5101 AR E 9
ISR - TMETgS $fd 3THRATEH %: UiHg: 317 |
Y61 SlAL (e el ¢

TCH: He e 3T 7

HELUGLAL 55U 5181 5L el ¢

HETIHI: HeTeh1 [ ohr hd: 7

AGCURARIAL Hicl- [l S10L ¢l ?

TR el @ 3Ty ?

SR A AR el o $UL S ¢
HETIYUT g IRUTHTIHgTHA &: 31 |

Yldoy el AARRRPIA [drdizell A+l
TaSTd STTARTIGI fereaiur sufer |

YL / AYET

25 vl
feoquft (short note) ST |

(1)
(2)

ANTEIH ST W& |
[qHTI: |
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(o) AAAL UAAL HAS- A AL Gzl @vll : (1L d =RL)
(¥) U Ao Iaun foeg | (FEmm)
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(1)
(1)
(2)
(2)
()
(3)
4)
()

APIELUAHI B2l WHIBUA 2<lsRe § ¢
AT Wi st W |
Ridefiil s2cl & ¢

Ty wfa af= |

sAll s2al © ¢

FAR: Shidraer | |

ATEIE Yo &: 31 |

AT i arer: af |
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509-EB : Sanskrit
(Alankarshastra)

(hreTey: uftese: 1-2 - )

A=Al 13 o 6L sLRSIRAL AHNAL :
Explain any two of the following Karika :

(1) TEeady AUEd e G HUSH |
QTG Grety feamiteh o ||

) Tafor e avm=E foe |
Tt it |

(3) IUTHATAI AT I TR |
3T AT G qE=T: JOeisd Yegd ||

(4) TSUTAY SATRIE] INT SAE aE: |
TershrrecereTeae it aretramT war 1)

AR s1TueL A UUE, AL :

Explain the following with reference to the context. (any two)

(1) e TTecred SATaEans g ||
(2) YR aEfeerieategH veee |
(3) HISIMATHIA FAFRM T |
(4) wegEferreffa an faeamT @ |

81l HA HelsleUAL gl 2L $3L.
Discuss the features of epic in opinion of GUgI.
xYd|
QTR JTOM: TIAOM: ST | (el ALELER L AHMAL.
Explain the statement SEH{HTRI STOT: SIOM: T | with example.
QR [Asey YR1E SR avedlol @l (AL d AUIR)

Answer the following questions by choosing the correct option. (any four)
(1) steusl-l HorasiRsui sl xq(d saml 2udl & ¢

(1) (A (2)  uRAadl (3)  UsR
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3. ()
(A)

(%D
(B)
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2) WL wARAE aell siAL vl © ¢
(1) Sldzu (2)  SHEA3Y (3) WU
(3)  ARMEYSA 55 UALS ¢
(1) 2 (2) & 3) B
(4)  ESLUSA CUMIALE2EAL USIR HIA S ¢
(1) =l (2) A (3) ol
(5)  LEA-1el A 3L AU AU AUSUA ARUA B2el UsIR 58,6 ¢
(1) qd (2) AUR (3) =l
(6) L AUUSAUAL ESL B2l USIRLHA S ¢
(1) AR 2) o (3) v
£l AN 3Us|, @aiil AN drAl Wi GEL AUELRVL @Vl 14

Give the feature of &9 given by US! and write its five differences with example.

Yl

SLRAERLAL AR AUl el ACSIR Qa1 A USIRL UELERYL QUL
Write the feature and types of @UTEIh 3gHR on the basis of HTeIey with

example.

QY [Ased wRig s31 avadled @il (AL d =A8L) 3

Answer the following questions by choosing the correct option. (any three)

(1

)

3)

(4)

©)

E410 B2l HULESIRL ALULE ¢
(1) 25 (2) 45 (3) 35
£41 Sled, WS dedl UL HIA & ?

(1) =™ (2) 2wl (3) dsR
2Rl SLEURL Rl WIL2 U, AR 252 I YR o 54l ACSR S8 ¢
(1) Gelatl (2) Gul (3) 345
Tear smTf e qefmiedar Tam i sl AcsR © ¢
(1) 34s (2) Al (3) el
TG WY FISEY S TWHA: Ha: Wi sAL ACASR € ¢
(1) Gcdall (2)  SuHL (3) AsbIBUS
6



4. (@) slSuRL A ([dal Al el

(A) Write note any two.

(1

2)

€)

)

DRI SHTERE UEGHL dlHA UL

Contribution of T8 in reference to TfeTeAT shreae.

IRURL MRt ALzl UR2A AL

Give introduction of FTITE of IR W |
{iAE el YRR WR vl

Give introduction of 3TTHEIETR ‘{El'?ﬂ'l’&'f:

{1 E el YAlRURIAL Hel 4L 2L 531

Discuss the Rasa of opinion of Wﬁtﬂq qg'??l'l'ﬂf: .

(01) Al D8-0 AL el @ull. (A1 d =)

(B)

MN-120

Answer the following question in one or two sentence. (any three)

(D
)
3)
4
)

RAAUMERAAL YR5AL 5L 6 ¢

BUARL GULHS 5l @alaL @il
LA E el Wi YARIRIAL A vl
&t cztil vl

AUz GurAl URLg 2lsL 58 A sIL € ¢

14



MN-120



